Identification strategy (Cochrane, 2005)
1. Consider carefully what controls should and should not be in the regression. You do not want to include all the “determinants” of y on the RHS. 
a. High R2 is usually bad- it means you ran left shoes = alpha + bheta*right shoes + gamma*price + error. Right shoes should not be a control!"
b. Do not run a regression like wage = a + b education + c industry + error. Of course adding industry helps to raise the R2, and industry is an important other determinant of wage ( it is in the error term if you do not include it a regressor). But the whole point of getting an education is to move to better industries, not to move from assistant burger-flipper to chief burger-flipper.

In a given month, BOD5 is given by:

a. the level of production, which is a function of the price of the good. Not necessarily positive because some firms operate in non-competitive markets
b. the cost of abatement

c. past enforcement actions
d. expected future enforcement actions

e. if you are an exporter and the foreign market demands less pollution

f. idiosyncratic characteristics of the firm owner

g. Dilution??
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All the inputs that appear in the regression and the price of Q are included through the derivation of the profit-maximization problem of the firms.

Price of abatement . can I get it?
2. What economic mechanism caused the dispersion of our right hand side variables?

a. PQ: 

i. International price of good (external demand shifts)

ii. Local demand shifts 

iii. Market power of some firms (supply side)

b. Labor
:

i. Q <= expectations for demand for Q

ii. Wage <= unemployment (efficiency wages)

c. Water:
i. Q <= expectations for demand for Q

ii. ¿¿BOD?? If yes, we have simultaneity. Needs to be solved.
d. Energy

i. Q

ii. Penergy

e. Flow

i. Q

� General comments for inputs: obviously the Labor is an implicit function of Energy and Pollution, and vice versa, for example, because you need more energy to help your workers to see and work, you need less labor if you are going to pollute more. Also, you need more workers if you are going to demand more energy and less pollution. But this mulricollinearity is an unavoidable, natural problem and therefore I do not include insputs as determinants of inputs.
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